Math 262 — 11 October 2019
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or Geometric with p= ¥

se that three out of every eight calls you receive is a robocall, and successive calls are independent.
e the number of calls you receive, until (and including) the next robocall.
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2. Le@gm number of calls until (and including) the third robocall. What is P(Y = n)?
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3. An interviewer must find 10 people who agree to be interviewed. Suppose that when asked, a person
agrees to be interviewed with probability 0.4.

(a) What is the probability that the interviewer will have to ask exactly 20 people?

Lat X vNB(rt0, p0t), Thew P(x-20)= (571) (04)° (06)" = 0.0586

(b) What are the mean and standard deviation of the number of people that the interviewer will have to ask?

c _ o _ (i) _ 1o(o4)
= = — = o (X) = = = 3.

Ox = \&37, = £.12

4. If X has a geometric distribution with parameter p, and k is a positive integer, find a simple expression for
P(X > k).

X>k
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5. Robocalls, again. P: _gg_

(a) What is the probability that none of the first four calls are robocalls?
\.\
P(X>4) = (-p'= §) = 0.1526

(b) If none of the first four calls are robocalls, what is the probability that none of the first seven calls are

robocalls?
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